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SECONDARY SCHOOL EXAMINATION – 2020 (ANNUAL) 

Model Set 

COMMERCE (Opt.)

Time : 3 Hrs. 15 Minutes         Full Marks : 100

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfgus vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us rFkk funsZ’kksa dk vuqikyu djus ds fy, 15 

feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted to read the questions 

and follow the instructions carefully. 

4- ;g iz’u&i= rhu [k.Mksa esa gS]  ,oa  

This question paper is divided into three sections : Section-A, 

Section-B and Section-C. 
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5- [k.M&v esa 60 oLrqfu"B iz’u gSa] ftlesa dsoy 50 iz’uksa dk mÙkj nsuk gSA 

¼izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA½ 50 ls vf/kd mÙkj fn, tkus dh 

fLFkfr esa izFke 50 mÙkjksa dk gh ewY;kadu fd;k tk,xkA budk mÙkj miyC/k 

djk, x,  OMR&mÙkj i=d esa fn;s x;s lgh òÙk dks dkys@uhys ckWy isu ls 

HkjsaA fdlh Hkh izdkj ds OgkbZVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk mŸkj 

if=dk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 60 objective type questions, Answer any 

50 questions only. (Each carrying 1 mark). If more than 50 

questions are answered, then first 50 answers will be evaluated. 

Darken the circle with black/blue ball pen against the correct 

option on OMR Answer sheet provided to you. Do not use 

Whitener/Liquid /Blade/Nail on OMR Sheet, otherwise the result 

will be treated as invalid. 

6-  esa 27 y?kqmÙkjh; iz’u gSa] izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 15 iz’uksa dk mŸkj nsuk vfuok;Z gSA  

In Section-B, there are 27 short answer type questions. (Each 

carrying 2 marks). Out of which any 15 questions are to be 

answered. 

7- [k.M&l esa 08 nh?kZ mÙkjh; iz’u gSaA ¼izR;sd ds fy, 05 vad fu/kkZfjr gSaA½ 

ftuesa ls fdlh 4 iz’uksa dk mŸkj nsuk vfuok;Z gSA 
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In Section-C, there are 8 long Answer Type questions (Each 

carrying 5 marks). Out of which any 4 questions are to be 

answered. 

8- fdlh izdkj ds bysDVªkWfud midj.kksa dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

 Section A

Objective Type Question

iz’u la[;k 1 ls 60 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftlesa ls ,d 

lgh gSA vius }kjk pqus x, 50 iz’uksa ds lgh fodyi dks OMR 'khV ij fpfUgr djsaA 

           50 x 1 = 50 

Questions No. 1 to 60 have four options, out of which only one is correct. 

You have to mark, your selected options of 50 questions on the OMR-sheet.

           50 x 1 = 50 

1- iqLrikyu dk vFkZ gS & 

A- iqLrdksa dks j[kuk    

B- iqLrdksa dks vkyehjk esa j[kuk   

C- iqLrdksa esa O;kikfjd ysu&nsuksa dks j[kuk     

D- mijksDr lHkh 

Book-keeping means :- 
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A. Keeping of Books. 

B. Keeping of books in almirah. 

C. Keeping the record of business transactions in books. 

D. All the above. 

2- ys[kkadu Hkk"kk gS & 

A- O;olk; dk    B- fuos’k dk 

C- nksuksa ¼ A rFkk B dk½  D- m|ksx dk 

Accounting is the language of - 

A. Business    B. Investment 

C. Both (A and B)   D. Industry 

3- Hkkjrh; baLVhV~;wV vkWQ pkVZMZ ,dkmUVsUV~l dh LFkkiuk gqbZ Fkh & 

A. 1948     B- 1949  

C. 1950    D- 1952  

The institute of Chartered Accountants of India was set up in -  

A. 1948    B. 1949 

C. 1950    D. 1952 

4- 5000 #0 dk;kZy; Hkou dk fdjk;k fn;k] ;g gS & 

A- ?kVuk     B- O;olkf;d ysu&nsu   
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C- A & B nksuksa    D- buesa ls lHkh 

Rs. 5000 paid as rent of office premises is an. 

A. Event    B. Business Transaction 

C. A & B both   D. All of these 

5- nksgjk ys[kk&iz.kkyh dk vfo"dkj fdlus fd;k \ 

A- yqdkl isfl;ksyh   B- okWVyh ok; 

C- ek’kZy    D- ekDlZ 

Double entry system was invented by whom? 

A. Lucas Pacioli   B. Batliboi 

C. Marshall    D. Marks 

6- dk;Z’khy iw¡th gS &  

A- pkyw laifÙk $ pkyw nkf;Ro B- pkyw nkf;Ro $ iw¡th 

C- pkyw laifÙk & pkyw nkf;Ro D- iw¡th $ nkf;Ro 

Working Capital is - 

A. Current Assets + Current Liabilities 

B. Current Liabilities + Capital 

C. Current Assets – Current Liabilities 

D. Capital + Liabilities 
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7- ys[kkadu gS & 

A- ,ds is’kk    B- lkekftd 'kfDr 

C- lsok dk;Z    D- mijksDr lHkh 

Accounting is - 

A. A Profession   B. Social Force 

C. Service Activity   D. All the above 

8- buesa ls dkSu pkyw laifÙk gS &  

A- miLdj    B- Hkou 

C- Hkwfe     D- jksdM+ 

Which of the following is a current asset - 

A. Furniture    B. Building 

C. Land    D. Cash 

9- buesa dkSu ewÙkZ laifÙk ugha gS\ 

A- [;kfr    B- eksVj dkj 

C- e’khu    D- Hkou 

Which of the following is not a tangible asset? 

A. Goodwill    B. Motor Car 

C. Machine    D. Building 
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10- buesa dkSu pkyw lEifÙk ugha gS \ 

A- Hkwfe     B- jksdM+ 

C- cSad     D- nsonkj 

Which of the following is not a Current Asset? 

A. Land    B. Cash 

C. Bank    D. Debtors 

11- [;kfr ,d laifÙk gS & 

A- ewÙkZ     B- pkyw 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Goodwill is an Asset - 

A. Tangible    B. Current 

C. A & B both   D. None of these 

12- nsunku ls vfHkizk; gS %& 

A- udn [kjhn    B- m/kkj [kjhn 

C- m/kkj fcØh    D- m/kj Hkqxrku 

Debtor means :- 

A. Cash Purchase   B. Credit Purchase 

C. Credit Sales   D. Credit Payment 
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13- _.k i= ls vfHkizk; gS % 

A. lEifÙk    B- dtZ 

C. A vkSj B nksuksa   D- buesa dksbZ ugha 

Debenture means :- 

A. Asset    B. Loan 

C. A & B both   D. None of these 

14- nksgjk ys[kk iz.kkyh dk tUe gqvk Fkk & 

A- Hkkjr esa    B- vesfjdk esa 

C- ikfdLrku esa   D- bVyh esa 

Double entry system was originated in - 

A. India    B. America 

C. Pakistan    D. Italy 

15- yqdkl isfl;ksyh fdl ns’k ds fuoklh Fksa\ 

A- bVyh    B- teZuh 

C- baXySaM    D- Ýkal 

Lucas Pacioli was the citizen of which country ? 

A. Italy     B. Germany 

C. England    D. France 
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16- buesa ls dkSu ys[kk’kkL= dk eq[; iqLrd gS \ 

A- jkstukepk    B- jksdM+ cgh 

C- [kkrk cgh    D- buesa ls dksbZ ugha 

Which is the main book of Accountancy? 

A. Journal    B. Cash Book 

C. Ledger    D. None of these 

17- jksdM+ [kkrk dk 'ks"k gksrk gS & 

A- uke 'ks"k    B- tek 'ks"k 

C- A vkSj B nksuksa   D- buesa ls lHkh 

Balance of Cash Book is - 

A. Debit Balance   B. Credit Balance 

C. Both A & B   D. All of these 

18- O;olkf;d ysu&nsu dks fy[kus dh izfØ;k dks dgrs gSa & 

A- jkstukepk    B- [krkSuh 

C- dkWfLVax    D- 'ks"k fudkyuk 

The process of recording Business transaction is - 

A. Journal    B. Posting 

C. Casting    D. Balancing 



10 
 

19- jkstukeps ds ckn rS;kj fd;k tkrk gS &  

A- ryiV    B- vkfFkZd fpV~Bk 

C- O;kikj [kkrk   D- [kkrk cgh 

Prepared after Journal :- 

A. Trial Balance   B. Balance Sheet 

C. Trading Account  D. Ledger 

20- jksdM+ cgh izk:Ik gS %& 

A- ryiV     B- [kkrk cgh 

C- jkstukepk    D- mijksDr lHkh 

Cash Book is a format of :- 

A. Trial Balance    B. Ledger 

C. Journal    D. All of the above 

21- NksVh jksdM+h cgh esa 500 :0 dk 'ks"k gSA blesa mlus VsfyQksu O;; 150 :0] 

uk’rk 50:0] ejEer 50 :0] lekU; O;; 100 :0 fd;k] rks 'ks"k jkf’k fdruh 

cpsaxhA 

A- 500 :0    B- 170 :0 

C- 330 :0    D- buesa ls dksbZ ugha 

Imprest amount is Rs. 500 in petty cash book. What will be the 

remaining amount, If the following expenses are done by petty 
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cashier-Telephone exp. Rs. 150, Breakfast Rs. 50, Repairing Rs. 

50 and General expenses Rs. 100. 

A. Rs. 500    B. Rs. 170 

C. Rs. 330    D. None of these 

22- miLdj m/kkj [kjhnk] jkspukeps dh izfo"Vh gksxh & 

A- jksdM+ [kkrk&uke   B- miLdj [kkrk&uke 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Credit purchases of Furniture, entry in Journal will be - 

A. Cash A/c - Dr   B. Furniture A/c – Dr. 

C. Both A & B   D. None of these 

23- foØ; okilh cgh esa ys[kk fd;k tkrk gS & 

A- m/kkj Ø; dh   B- foØ; dh 

C- fcdk gqvk eky okil dk  D- buesa ls dksbZ dk ugha 

In sales return book, entry is made of - 

A. Credit purchases  B. Sales 

C. Sales return   D. None of these 

24- ryiV gS & 

A- ,d fooj.k    B- ,d [kkrk 
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C- lgk;d cgh   D- buesa ls dksbZ ugha 

Trial Balance is - 

A. A statement   B. An Account 

C. Subsidiary Book  D. None of these 

25- ryiV esa 'ks"k gksrk gS & 

A- flQZ O;fDrxr [kkrksa dk  B- flQZ okLrfod [kkrksa dk 

C- flQZ uke&ek= [kkrksa dk  D- mijksDr lHkh dk 

Trial Balance contains the balance of - 

A. Only Personal Accounts  B. Only Real Accounts 

C. Only Nominal Accounts D. All of the Above 

26- izkI; foy [kkrk gS & 

A- ukeek= [kkrk   B- O;fDrxr [kkrk 

C- okLrfod [kkrk   D- buesa ls dksbZ ugha 

Bills Receivable Account is - 

A. Nominal Account  B. Personal Account 

C. Real Account   D. None of these 

27- foy dk cspku ls vfHkizk; gS %& 

A- Hkqxrku ds fy, cSad esa Hkstuk  
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B- cSad ls Hkqukuk 

C- m/kkj Hkqxrku esa rhljs i{k dks nsuk 

D- vius ikl j[kuk 

Endorsement of Bill means - 

A. Sent in to Bank for Payment 

B. Discounting with Bank 

C. To give third party against credit payment 

D. Keep till the date 

28- fcy dk vuknj gksus ls vfHkizk; gS & 

A- Hkqxrku frfFk ij Hkqxrku ugha gksuk 

B- Hkqxrku frfFk ij fcy dk Hkqxrku gksuk 

C- A vkSj B nksuksa   

D- buesa ls dksbZ ugha 

Dishonour of Bill means - 

A. Fails to pay on due date B. Pay on due date 

C. A and B both   D. None of these 

29- [;kfr gksrh gS & 

A- pkyw laifÙk    B- ,d fuos’k 

C- ,d vewrZ lEifÙk   D- iw¡thxr O;; 

Goodwill is - 
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A. Current Asset   B. An investment 

C. An intangible Asset  D. Capital expenditure 

30- cdk;s [kpsZ dks dgrs gS & 

A- vnÙk O;;    B- iwoZnr O;; 

C- A ,oa B nksuksa   D- mijksDr lHkh 

Expenses due is known as - 

A. Outstanding Expenses B. Prepaid Expenses 

C. Both A & B   D. All of the Above 

31- 20 ?kaVk 20 feuV esa fdrus lsdsaM gksrs gSA 

A- 73200 lsdsaM   B- 74400 lsdsaM 

C- 75500 lsdsaM   D- 70000 lsdsaM 

How many seconds are there in 20 Hours, 20 Minutes- 

A. 73200 sec.   B. 74400 sec. 

C. 75500 sec.   D. 70000 sec. 

32- 4 ,oa 9 dk e/;kuqikr gksxk & 

A. 5     B- 4 

C- 6     D- buesa ls dksbZ ugha 

Middle Ratio of 4 and 9 will be :- 

A. 5     B. 4 

C. 6     D. None of these 
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33-     cjkcj gS & 

A- 30%     B- 20% 

C- 10%     D- 40% 

     is equal to - 

A. 30%     B- 20% 

C- 10%     D- 40% 

34- 1333 dk 20% cjkcj gS & 

A- 133-00 :0    B- 260-60 :0 

C- 266-60 :0    D- 266-00 :0 

20% of Rs. 1333 is - 

A. Rs. 133.00   B. Rs. 260.60 

C. Rs. 266.60   D. Rs. 266.00 

35- ;fn x dk 12½% = 200 gS rks x = \ - 

A- 1500     B- 1600 

C- 1650     D- buesa ls dksbZ ugha 

If 12½of x is = 200 then x = ? 

A. 1500    B. 1600 

C. 1650    D. None of these 

2 
5 

2 
5 
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36- fdlh oLrq dks 2040 :0 esa cspus ij 15 izfr’kr dh gkfu gksrh gS rks Ø; ewY; 

D;k gksxk \ 

A- 2400 :0    B- 2200 :0 

C- 2300 :0    D- buesa dksbZ ugha 

When an article is sold on 15% loss at Rs. 2040. Then what will be  

the purchase price ? 

A. Rs. 2400    B. Rs. 2200 

C. Rs. 2300    D. None of these 

37- ,d oLrq 1100 :0 esa [kjhn dj 10 izfr’kr ykHk ij cspk tk, rks oLrq dk 

foØ; ewY; gksxk\ 

A- 1200 :0    B- 1210 :0 

C- 1310 :0    D- 1440 :0 

An article sold on 10% profit, If purchase price is Rs. 1100, then 

selling price is - 

A. Rs. 1200    B. Rs. 1210 

C. Rs. 1310    D. Rs. 1440 

38- tc fdlh oLrq dks 1500 :0 [kjhn dj 1800 :0 esa csph tkrh gS rks izfr’kr 

ykHk D;k gksxk\ 

A- 10 izfr’kr    B- 20 izfr’kr 
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C- 30 izfr’kr    D- 40 izfr’kr 

When an Article purchased at Rs. 1500 and sold at Rs. 1800. 

Then what will be the gain percentage? 

A. 10%    B. 20% 

C. 30%    D. 40% 

39- 450 yhVj nw/k esa ikuh dh ek=k 50 yhVj gs ;fn feJ.k esa 50 yhVj ikuh vkSj 

feyk;k tkrk gS rks ikuh dk izfr’kr nw/k ds feJ.k esa D;k gksxk\ 

A- 15%     B- 25% 

C- 20%     D- 30% 

In 450 liter of Milk, water is 50 liter, when 50 liter of water is again 

added then what is the percentage of water in mixture of milk? 

A. 15%     B- 25% 

C- 20%     D- 30% 

40- 1200 :0 dk 5 izfr’kr okf"kZd C;kt dh nj ls 2½ o"kZ dk lk/kkj.k C;kt D;k 

gksxk\ 

A- 50 :0    B- 75 :0 

C- 100 :0    D- 150 :0 

What is simple interest of Rs. 1200 for 2½ year @ 5% p.a.? 

A. Rs. 50    B. Rs. 75 

C. Rs. 100    D. Rs. 150 
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41- dksbZ /ku 20 o"kZ esas nqxquk gks tkrk gS rks C;kt dh okf"kZd nj D;k gksxh\ 

A- 3%     B- 4% 

C- 6%     D- 5% 

If an amount is doubled in 20 years, then find the rate of interest? 

A. 3%     B- 4% 

C- 6%     D- 5% 

42- 4449-3333 dk eku gtkjosa ds lfUudV D;k gksxk \ 

A- 4449-333    B- 4449-334 

C- 4449-300    D- 4449-400 

What will be the nearest value of 4449.3333 in 1000th ? 

A. 4449-333    B- 4449-334 

C- 4449-300    D- 4449-400 

43- 556677 dk 'kq) eku 1000 ds lfUudV gksxk % 

A- 556 x 103    B. 557 x 103 

C. 556 x 104    D. 556 x 105  

The value of 556677 nearest to 1000th will be: 

A. 556 x 103    B. 557 x 103 

C. 556 x 104    D. 556 x 105 
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44- ;fn 100 :0 ¾ 136 ekdZ] 400 ekdZ ¾ 95 MkWyj rks 1200 :0 esa fdrus MkWyj 

izkIr gksaxs & 

A- 3876 $    B- 3800$ 

C- 3900$    D- 4000$ 

If Rs. 100 = 136 Mark, 400 Mark = 95$ then, how many $ are 

there in Rs. 1200 

A. 3876 $    B- 3800$ 

C- 3900$    D- 4000$ 

45- A ,oa B vius O;kikj dks 10000 :0 ,oa 12000 :0 ls 'kq: djrs gSaA o"kZ ds 

vUr esa dqy ykHk 11000 :0 gksrk gS rks A ds ykHk dk fgLlk gksxk % 

A. 4000 :0    B- 5000 :0  

C- 6000 :0    D- 7000 :0 

A & B started business with Rs. 10000 & Rs. 12000. Total profit at 

the end of the year is Rs. 11000, then A’s share of profit will be : 

A. Rs. 4000    B. Rs. 5000 

C. Rs. 6000    D. Rs. 7000 

46- O;olk; ls vfHkizk; gS %  

A- udn Ø;&foØ;   B- m/kkj Ø;&foØ; 

C- nksuksa A ,oa B   D- bueas ls dksbZ ugha 

Business means - 
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A. Cash purchase and sales B. Credit purchase & sales 

C. Both A & B   D. None of these 

47- fuEu esa dkSu m|ksx dk fgLlk gS\ 

A- udn [kjhn     B- udn foØ; 

C- mRifÙk] fu"d"kZ.k ,oa fuekZ.k m|ksx D- buesa ls dksbZ ugha 

Which of the following is a part of industries ? 

A. Cash purchase    

B. Cash sales 

C. Genetic, Extractive & Manufacturing industries   

D. None of these 

48- O;kikj vkSj m|ksx ds fodkl ij fuHkZj djrk gS & 

A- m|ksxksa dk fodkl   B- O;kikj dk fodkl 

C- A rFkk B nksuksa    D- okf.kT; dk fodkl 

Depends upon the development of Trade & Industry. 

A. Development of Industries 

B. Development of Trade 

C. Both A & B 

D. Development of Commerce 



21 
 

49- ,dkdh O;kikj ds lcls egRoiw.kZ xq.k gS & 

A- O;kikj dh xksiuh;rk  B- O;kikj dh lQyrk 

C- iw¡th dh miyC/krk   D- buesa ls dksbZ ugha 

Most important merit of sole trading business is - 

A. Secrecy of Trade  B. Success of Trade 

C. Availability of Capital  D. None of these 

50- vlhfer nkf;Ro fdl O;kikj dk nks"k gS \ 

A. lhfer lk>snkjh   B- lgdkjh 

C. la;qDr iw¡th daiuh   D- ,dkdh O;kikj 

Unlimited liability is the demerit of which business ? 

A. Limited Partnership  B. Co-operative 

C. Joint Stock Company  D. Sole Trading 

51- lk>snkjh O;olk; esa lnL;ksa dh U;wure la[;k gksrh gS & 

A. ,d     B- nks 

C. rhu     D- pkj 

Minimum number of members in partnership business is - 

A. One     B. Two 
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C. Three    D. Four 

52- la;qDr fgUnq ifjokj dk Lokeh gksrk gS & 

A. efgyk    B- NksVk HkkbZ 

C. cM+k HkkbZ    D- mijksDr lHkh 

The owner of Joint Hindu family is - 

A. Female    B. Younger Brother 

C. Elder Brother   D. All the Above 

53- lk>snkjh vf/kfu;e dh LFkkiuk fdl o"kZ gqbZ Fkh \ 

A. 1932     B- 1930 

C. 1928     D- 1926 

In which year Partnership Act was established ? 

A. 1932     B- 1930 

C. 1928     D- 1926 

54- D;k lk>snkjh O;olk; dk iath;u vfuok;Z gS\ 

A. ugha     B- gk¡ 

C. nksuksa A ,oa B   D- buesa ls dksbZ ugha 
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Is registration of partnership business compulsory? 

A. No     B. Yes 

C. Both A and B   D. None of these 

55- la;qDr iw¡th daiuh dks dgk tkrk gS & 

A. lgdkjh laLFkk   B- 'kS{kf.kd laLFkk 

C. nksuksa A ,oa B   D- d`f=e O;fDr 

Joint stock company is known as - 

A. Co-operative Institution B. Educational Institution 

C. Both A and B   D. Artificial Person 

56-  A. T. M. dk iw.kZ fooj.kh gksxk & 

A. vkSVksesVsM Vsyj e’khu  B- gj le; iSlk 

C. mijksDr le; eqnzk   D- buesa ls dksbZ ugha 

The full form of A. T. M. is - 

A. Automated Teller Machine B. All Time Money 

C. Above Time Money  D. None of these 

57- Fkksd O;kikj lacaf/kr gS & 
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A. fons’kh O;kikj ls   B- ns’kh O;kikj ls 

C. nksuksa ls    D- mijksDr lHkh ls 

Wholesale trade is related with - 

A. Foreign Trade   B. Home Trade  

C. Both A & B   D. All of Above 

58- izfrfyfidj.k ls vfHkizk; gS % 

A. ,d i= dk dbZ izfr ,d lkFk cukuk 

B- ,d izfr ls 100 izfr rS;kj djuk 

C. A ,oa B nksuksa   

D- buesa ls dksbZ ugha 

Copying means - 

A. Many copies of a letter printing at a time 

B. 100 copies from one copy. 

C. Both A and B 

D. None of these 

59- psd ¼/kukns;½ fdl laLFkku }kjk fn;k tkrk gS\ 
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A. O;kikfjd laxBu }kjk  B- dj foHkkx }kjk 

C. ljdkj }kjk    D- cSad }kjk 

Cheque is issued by which institution ? 

A. Business Organisation B. Tax Department  

C. Government    D. Bank 

60- ^^vuqxzg fnol** fcy Hkqxrku ds laca/k esa fdrus fnu ds fy, fn;k tkrk gS \ 

A. ,d fnu    B- nks fnu 

C. rhu fnu    D- pkj fnu 

“Days of grace” is given for how many days in relation to payment 

of Bill? 

A. One day    B. Two days 

C. Three days   D. Four days 
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Section-B 

Short Answer Type Questions 

iz’u la[;k 1 ls 27 rd y?kq mÙkjh; iz’u gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd 

iz’u ds fy, 2 vad fu/kkZfjr gSaA       (15x2=30) 

Question no. 1 to 27 are Short answer type question. Answer any 15 

questions. Each question carries 2 marks.    (15x2=30) 

1- cgh [kkrk dh ifjHkk"kk nsaaA 

Define Book-Keeping 

2- ^^iqLrikyu dyk vkSj foKku nksuksa gS** mldh O;k[;k djsa & 

Book-Keeping is an Art as well as a science. Explain 

3- nksgjs ys[ks iz.kkyh dk vfo"dkj fdlus vkSj dgk¡ gqvk Fkk\ 

Where and who invented double entry system. 

4- nksgjs ys[kk iz.kkyh ,oa ,dgjs ys[kk iz.kkyh ds nks varj crk;saA 

Mention any two differences between double entry and single 

entry system. 

5- 11000 :0 ls cSad esa opr [kkrk [kksyk] jkstukeps dh izfo"Vh djsa & 

Open a saving Account in Bank with Rs. 11,000. Pass journal 

entry :- 

6- Jh jke dks psd }kjk 5000 :0 pqdrk fd;k] jkspukeps dh izfo"Vh djsaA 
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Rs. 5000 paid to Sri Ram by cheque. Pass Journal Entry. 

7- [kkrs ds izk:Ik dks crk;saA 

Give a Format of Ledger. 

8- vuqxzg fnol ls vki D;k le>rs gSa \ 

What do you mean by days of grace? 

9- 2 eq[; lgk;d cfg;ksa ds uke crk;saA 

Mention two main subsidiary Book. 

10- izkjafHkd jgfr;k ,oa vafre jgfr;k ls D;k le>rs gSa\ 

What do mean by opening stock & closing stock? 

11- 'kq) ykHk dks vkfFkZd fpV~Bs esa dSls n’kkZ;k tkrk gS\ 

How net profit is shown in Balance Sheet? 

12- O;olkf;d cSad ds rhu ykHk crk;sa & 

Mention three benefits of Commercial Bank - 

13- foy dh vizfr"Bk ls vki D;k le>rs gSa\ 

What do you understand by dishonour of Bill? 

14- 15 fDo.Vy ,oa 55 fDo.Vy dks vuqikr esa izdV djsaA 

Explain in Ratio form of 15 quintal & 55 quintal. 

15- 640 :0 dks 7 % 9 ds vuqikr esa ck¡VsA 

Divide Rs. 640 in the ratio of 7:9. 

16- fdlh va’k/kkjh ds ikl 10:0 okys 10000 'ks;j gS ;fn 10 izfr’kr ykHkka’k 

?kksf"kr fd;k tkrk gS rks ykHkka’k dh jkf’k crk;saA 
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A share holder have 10000 shares of Rs. 10 each, if 10% dividend 

is declared, then what is the amount of dividend? 

17- ,d QeZ esa d] [k ,oa x rhu lk>snkj gSaA os vius ykHk dks 5 % 8 % 12 esa ckaVrs 

gSaA ;fn dqy ykHk 1]00]000 :0 gS rks ykHk esa ^d* dk fgLlk D;k gksxk\ 

A, B and C are three partners in a firm. They distribute their profit 

in the ratio of 5:8:12. If total profit is Rs. 1,00,000, then what will be 

the share of A in the profit? 

18- 'kq) ykHk ds x.kuk dk lw= fy[ksa & 

Write the formula of net profit. 

19- ,dkdh O;kikj ds nks fo’ks"krkvksa dh O;k[;k djsaA 

Explain the two characteristics of sole trading. 

20- O;kikj ,oa okf.kT; esa nks varj dks fy[ksa & 

Write two differences between Trade and Commerce - 

21- Lkk>snkjh O;kikj ds nks xq.kksa dks fy[ksaA 

Write two merits of Partnership Business. 

22- la;qDr iw¡th daiuh dh ifjHkk"kk D;k gS\ 

What is the definition of Joint Stock Company? 

23- la;qDr iw¡th daiuh O;olk; ds nks nks"kksa dks fy[ksaA 

Write two demerits of Joint Stock Company Business? 

24- iksLV dkMZ ,oa varnsZ’kh; i= dk orZeku dher crk;saA 

Write the present price of Post Card and inland letter. 

25- lgdkjh cSad ls vki D;k le>rs gSa \ 
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What do you mean by co-operative Bank? 

26- xzkeh.k cSad ds nks dk;ksZa dks fy[ksaA 

Write two functions of Rural Bank. 

27- vlhfer nkf;Ro dk vFkZ crk,¡A 

Write the meaning of unlimited liability.

Section-C

Long Answer Type Questions

iz’u la[;k 1 ls 8 rd nh?kZ mÙkjh; iz’u gSaA bl dksfV ds izR;sd iz’u ds fy, 5 vad 

fu/kkZfjr gSaA fdUgha 4 iz’uksa ds mÙkj nsaA      (4x5=20) 

Question no. 1 to 8 are long answer type questions. Each question carries 5 

marks. Answer any 4 questions.      (4x5=20) 

1- lk>snkjh dh ifjHkk"kk nsa ,oa blds nks"kksa dks fy[ksaA 

Define partnership and write its demerits. 

2- futh daiuh ,oa lkoZtfud daiuh ds fdlh ik¡p varjksa dks fy[ksaA 

Write any five differences between Pvt. Ltd. Co. and Public Ltd Co. 

3- ukS ewY; rkfydk }kjk 1537 yhVj nw/k dk dher crkosa] ;fn ,d yhVj nw/k dk 

dher 45-50 :0 gksA 

From the Table of Nine value, find out the price of 1537 liter of 

milk, when One liter milk price is Rs. 45.50. 

4- 6½ % izfro"kZ C;kt dh nj ls 8]880 :0 dk C;kt 4 o"kZ 9 ekg esa D;k gksxk\ 

At the rate of 6½ % interest p.a.. What is the interest of Rs. 8,880 

in 4 years and 9 months? 

5- ^^nksgjs ys[kk iz.kkyh** [kkrk fy[kus dh lcls mÙke oSKkfud iz.kkyh gSA dSls\ 
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How is double entry system of accounting is best scientific 

system? 

6- fuEufyf[kr jkstukeps ls jksdM+ cgh rS;kj djsa &  

1- jksdM+ [kkrk -------------------- ukesa  10000 

tek iw¡th [kkrk    10000 

2- cSad [kkrk -------------------- ukesa   5000 

tek jksdM+ [kkrk     5000 

3- Ø; [kkrk -------------------- ukesa   3000 

tek jksdM+ [kkrk     3000 

4- etnwjh [kkrk -------------------- ukesa   500 

tek jksdM+ [kkrk      500 

5- jksdM+ [kkrk -------------------- ukesa  4000 

tek foØ; [kkrk     4000 

From given journal entries, prepare Cash Book. 

1. Cash A/c ……… Dr.  10000 

To Capital A/c    10000 

2. Bank A/c ……… Dr.   5000 

To Cash A/c      5000 

3. Purchase A/c ……… Dr.  3000 

To Cash A/c      3000 

4. Wages A/c ……… Dr.    500 

To Cash A/c       500 

5. Cash A/c ……… Dr.   4000 

To Sales A/c     4000 

7- [kkrs fdrus izdkj ds gksrs gSa\ mnkgj.k lfgr fy[ksaA 

What are the type of Accounts? Explain with examples. 

8- fuEu ryiV ds 'ks"kksa ls ldy ykHk dh x.kuk djsa& 

From the following balances of Trial Balance, find out gross profit - 
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Opening Stock  izkjfEHkd LVkWd  & 5000   

Purchase  Ø;    & 5000   

Wage   Ektnwjh    & 1000   

Carriage  HkkM+k    &   50 

Sales   foØ;    &    15000 


